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Question Number : 1 Question Id : 87408110218 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following data collection methods is not normally used in qualitative
research ?

e J H BE-E RSS! HqHsv GEE B 9GET JEEE: JOAS
o H A A S BT

Options :

Participant observation

1. %

Focus groups
, g PRI HiE

Questionnaire
3, ¢ AXTE

Semi-structured interview

4 % Hem H{HATHE HIEAERIE

Question Number : 2 Question Id : 87408110219 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1



Question Label : Multiple Choice Question

When a hypothesis states that there is no difference between two situations, groups,
outcomes or the prevalence of a condition, it is called :
U OieRedE TAEH o f™iodl, 9=, 9RemAr a1 el i @ =
H T HAT A8 &, d 34 HEI A B
Options :

Alternative hypothesis
| % Tieaes OiERea

Null hypothesis
— rv'r"r;_ﬂ
) 9 U =hed-l

Descriptive hypothesis
3w TOTHS T

Numerical hypothesis
4 x GEATHE THEHTT

Question Number : 3 Question Id : 87408110220 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In which kind of research, analysis of data is an ongoing process during data collection ?

T =R & 9N o RSl & SUE9 & Gl HATHS! hl 90 UF Jod

Options :
Qualitative

1w 3T

Quantitative
) ® HI=THE

Survey

HaeToT

3. %

Experimental

U L=
4, % '

Question Number : 4 Question Id : 87408110221 Question Type : MCQ Option Shuffling : Yes Is Question



Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the main aim of interdisciplinary research ?
Options :

To over simplify the problem of research
HATHIA FHET F i T4 &

1. ®

To bring mlt the holistic ’1ppmach to research

2J34:1'€TI7|' qulfﬁlu—ﬂ:{ﬁm

To create a new trend in research methodology
% FIEUN TSl H oAU ugig & FEe & e

3.

To reduce the emphasis on a single subject in the research domain
TIEAN = F o ow faueg 97 g9 (F9) @ 59 @ § o

4, ®

Question Number : 5 Question Id : 87408110222 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following feature is considered as critical in qualitative research ?
‘]"JTI?HTQ'ITJ:EW#, MfeTaa § o HiE-Al -{I?I'-II?F[‘T”'_—FI“TWHT
ST Hebel 5 7

Options :
Collecting data with the he]p of standardized research tools
L% H Ld ST ITHION Al HerEdr o ?r-llﬂh‘al T Hehoro

Design sampling with probability sample techniques
5 % EEEIAT gGeT Tl W Hies =EE H A THDed

Collecting data with bottom-up empirical evidence
USTIl ® Hebod H O FAETEd HJiEmd @ e H 3= 'l @ AR

Gathering data with top-down schematic evidence
y w 99 F TP FIReT Jea d9inEa gen JaEeT



Question Number : 6 Question Id : 87408110223 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

'Parameter’ indicates the characteristics of which of the following ?

‘e’ MeTeaT " o e SeTaare & senar 5 7
Options :

Population

1, o

Sample
5w HfcTEel

Statistics

Statistical measurements
4 % HADE AT

Question Number : 7 Question Id : 87408110224 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which one of the following is an indication of the quality of a research Journal ?

F=iAiEe | | HE-E U SN 9= H YO B FHDH BT
Options :

h-index
L% Lt EEAET

g-index

) ® ST-H=ARIH

i 10-index
s % FTS 10-F=HH

Impact factor
4 T T



Question Number : 8 Question Id : 87408110225 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The nmphng techmque based on referral system Dfrespcrndenh is known as :
IUIGIIAT & T JUEl 9 ATHG 9iad=ad T &l . @ 09

H AT AT B

Options :
Convenience Sampling
-FI:; b T, b=
L% ﬁ-_j)I-IﬂT HAld=H+

Snowball Sampling
=T Oia=a

Cluster Sampling
VeI ISERE

Stratified Sampling
T Jid=a4

Question Number : 9 Question Id : 87408110226 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What is the first stage of a systematic review of literature ?
AT el HHIAT & 95l =29 497 5 7

Options :

Assess the relevance of each study to the research question(s)
.- HATEH UeS (WeHl) H U Ued FeAAS B ATENTRT B FHThT
Define the purpose and scope of the review
, @ THET & Igesd A AT H 9

Appr’u%& the qmllh of studies from the previous step
fgel =791 & ol (F=Ed) | TOTET AT FEE

3. %



Survey all of the literature contained within a single library
% T B JEaheE | Mg g4 afee i adeo

4.

Question Number : 10 Question Id : 87408110227 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What does it mean to operationalize a variable for empirical research ?
HAIATTA AJHIH & 0 U =T B/ =TT HIA B AT AL F 7

Options :
Defining variables into measurable factors
1. ¢ T M A AT FHEHI H IHNTT He

Describing which variable will be operational
, w T HAT o6 HBEA-H = A= B

Describing the tools of research
3 x FTHI & HIEA B IO AT

Describing the criteria of selection of elements in sample
4 x FGRT H SHEAT & FIT & AWGS B IO HIAT

Question Number : 11 Question Id : 87408110228 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

ANOVA is used to calculate :

UHTET (ANOVA) T I99RT 9641 JET & ¢

Options :
The difference between two treatments effect
| % S TUER "EEl & g & ¥ & g

The difference among more than two treatments effect
v O H FAEE I0ER q9E & 9= F AaT F [T

2

The association between two variables
s x O T & A HaAT & oo



The correlation between two variables
« of T4 & 949 JedEg & g

4.

Question Number : 12 Question Id : 87408110229 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

. are errors that can be attributed to sources other than sampling, and they can be
r’mdom or non-random.

L

o IiF'ZlI 5 o=
T TFaT B

L ==

181 5 2 s M R = [ = = v =1 o = O T
AGBH a1 -A5=sa =7 9@ - |

=

- 113

Nl 5'1«_’

R4

Options :
Random sampling error

, JTers® dia=ae Fie

NGH-[’ESPDIISE error
T —aidiEpar Jio
F )

Non-sampling error
TT-Tie=E= Fie

3.¢

Response error
EIGIEE =

4, #

Question Number : 13 Question Id : 87408110230 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which of the following is not a type of non-probability sampling ?

M= H | THF-F1 IT-FAEA] 9i0=aT 6 UE TS q8 2 ¢
Options :

Quota sampling
| x el Afa=aA

Snowball sampling
5 w T ST



Cluster sampling
VS ISERE

3.¢

Convenience sampling
4w BT HiA=E

Question Number : 14 Question Id : 87408110231 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Idea generation by two or more people thinking as freely as possible is formally known
as :

S AT S {EUE @R dT IUEEd Ead w9 99w #1 oS
A= ®H 9 F 9 9@ S0 A 5 7

Options :
Gap analysis

| % Hae Feeo

Forced relationship
)y T HeE

Brainstorming

3 o AT (S-EEIE)

The learning curve

% Hra= & g

Question Number : 15 Question Id : 87408110232 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In research terminology the extraneous variable can be described as ............. .
2N STerdell | =e40 =7 Hl 3H WHIT 9o a1 =1 Jhal &

Options :
Linking the independent and dependent variables
| x O AN SATAT =T BN A




Several factors operating in a real-life situation that is not measured in the study
may affect changes in the dependent variable

araigss FJEa B =i § wmE S 9T FE FEE A Js=]adT H
» T FE S E, 9 ANSd =Y H 9idad ®H TH9idd HT Fhd B

2

The outcome or change(s) brought about by the introduction of an independent
variable

IO A1 9iEge (IEEl) B U Emas =Y B EA & gdiE g
3% '

The cause responsible for bringing about change(s) in a situation
4 w FHET BRI H OiaeE (9 B e & [ S S

Question Number : 16 Question Id : 87408110233 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is meant by a "spurious” relationship between two variables ?
Options :
One that is so ridiculously illogical it cannot possibly be true

| x % IO TR W9 § eSS ¥ aw w9 9E 8 aw

An apparent relationship that is so curious it demands further attention
U T 99 A a1 M % 98 o = & & "2 Hmear B

A relationship that appears to be true because each variable is related to a third one
U HEH FAl I Udld BT 5 #4i U =Y U e =97 | Heied

=,

1

One that produces a perfect negative correlation on a scatter diagram
U Sl Uehiel AN (989 ==) 97 UF 99 RS dsa9d Iod
4 23 q-.-' .\ll %

Question Number : 17 Question Id : 87408110234 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



First step of research is :
ST =T 99" =T B
Options :
Designing the research
| ® SN FH TIIET FATT A

Data Collection
) % HATHST TIEHTHT

[dentification of the research problem
3 o AT FHET @ IEE

Analysis of data

L% HiBST 1 [Fecraor

Question Number : 18 Question Id : 87408110235 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which one of the following is not correct about hypothesis ?
UEmedH T & A § Hefanad 5 | @ 9 981 5 7
Options :

A good hypothesis is generally simple
| % UF F=ET Il JAEETdl J4d Bl B

It is necessary that a hypothesis must never be capable of 'being proved' or

'disproved'

a5 HAEAEH 5 [ UFH dEedAr HEl |1 CFANET B "G 91 C|nad |J
5 @ Bl W AT TE B

Hypothesis provides a right direction to a research
Ji¥ehed=l U= eie I d21 Qe Ue Hial B

In empirical research, formulation of hypothesis is an essential component of the

research design

HAGATSE T H, THeTAT B FHOT ST H TG B/ T ATID
4 % SII9 =

Question Number : 19 Question Id : 87408110236 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time :



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher has obtained a set of data having values 1,4, 5, 4, 6, 4, 8, 4, 9, 3, 2 find out
the mode :

U el H 1,4,5,4,6,4,8,4,9,3,2 % AN AcI HAHSI B UH TY==4
o AT B, S @ 991 o

Options :
1. % 6

Question Number : 20 Question Id : 87408110237 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

How to judge the depth of any research ?

TE5E1 €1 e 1 =05 B HH ATH AT B 7

Options :
By research title

By research duration
Y AT & ATAT

By research objectives
e IRedl T AJAT

By total expenditure on research
g 9Y [ A B

Question Number : 21 Question Id : 87408110238 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No



Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not related to qualitative research ?
M=eET § |/ BE YOS AgET J F9ieT T8 57

Options :
Thematic analysis
EERHGEEER P

Case Study
g HA=EA (HE =30)

Discourse analysis
3w M GETE

Survey method

. a7 [=7eEr

Question Number : 22 Question Id : 87408110239 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Willingness of study participants to participate in the study is obtained by :
oM Hegge H AR o &% 00 Jemge gia9iiEl & 3281 BhEs 1 9T
Options :

Willingness is not necessary

=] &l A8 B

Informed consent
ged HeHd (SRS e )

2. ¢

Oral commitment is sufficient
s & ANES HIEE THT B

Copyright

o

4 % ) 4 p=1

Question Number : 23 Question Id : 87408110240 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following is not a referencing style ?
M=faad § 9 39 U5 99 9 A8 & 7
Options :

Vancouver

Chicago
s« T9TERET

Index Medicus

. =T HiSTH

Question Number : 24 Question Id : 87408110241 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Sensitivity of a test measures :
Options :

True positives
|« T HBATHS

True negatives
5 % G TAHAIHD

False positives
3 % AT HHIED

False negatives
4 % =T AR

Question Number : 25 Question Id : 87408110242 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Type-1I Error occurs if :
area-1l e 79 =1 & FiS
Options :
The null hypothesis is rejected when it is true
| % T4 I EHeIA T T BIF UT 1 a3 Al B

The null hypothesis is accepted even though it is false
g7 TTERedl Bl HAE BN U |l EERE AT S B

2. ¢

Both the null hypothesis as well as alternate hypothesis are rejected
¥p ) Yp ]
3 % I TETI] AT gHledah IEhed=l @FEl JAM-GIGHT HHE & AWl &

The null hypothesis is not rejected when it is true
9V IEedAl |ed B U7 A7 S 9A1 Bl B

4. %

Question Number : 26 Question Id : 87408110243 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

When the data set contains too many extreme values, the most representative average
value is 7

9 AT H HY=4 (ST He) H T9gd AGw =IH "N BM E, a1 799
e 9famTe ofEd #9 BET B o

Options :
Mean

I

Median



Question Number : 27 Question Id : 87408110244 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A researcher wishing to draw a sample from sequentially numbered houses uses a
random starting point and then selects every 6th houses, she/he has thus drawn a .............
sample.

OF oAl Al FgHHE® €9 H BN 99 H UF A9 oW Jmdl B, U@
qGesd RS fH6g @ IWEE Ha B AN B gEd 6 4 "7 H FAA

THEAT B, 3H UHNE FET TF .............. THAT AT |
Options :
Sequential

Systematic
2 \'.?.-' IJ:":I ji_l \.:T:]ﬁ

Simple random
3 % A ATGBH

Cluster

Question Number : 28 Question Id : 87408110245 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Randomized clinical trials can be best described as :
TGI8 Hal® TN Hl T9a9 =9 # Fioia mar = J96%ar §

Options :
Experimental studies

TR ST
| UTHIHTR A=A

Analytical studies

FERER e e e
2. %

Observational studies
o FATAEHT TET FEAA

3



Descriptive studies

L% JUIHTHTE HA=TTH

Question Number : 29 Question Id : 87408110246 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Weight is to the .............. scale of measurement as political affiliation is to the ..............
scale of measurement.
T wvevrrerrnees. THM T B AT TEANTH FIGHAT e, THM TT B |

Options :
ratio; ordinal
L% FHAI; A

ratio; nominal
L T " 1T
o T AIHS

2.

interval; nomunal
AT AEa

3. %

ordinal; ratio
sHHHED; FJAd
=

4. %

Question Number : 30 Question Id : 87408110247 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

When alpha is 0.05, this means that :
I HTHI 0.05 B, O 3901 Hded & 6

Options :

the probability of a Type II error is 0.95
erEd I i I F49=-r 0.95 &

1. #

the probability of a Type II error is 0.05

L x T e @1 FEE=r 0.05 &



the probability of a Type I error is 0.95

y x OR9 1 FE & FHEr 095 B

the probability of a Type I error is 0.05
4 CE9 1 T @ FE9Er 005 B

Question Number : 31 Question Id : 87408110248 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Reliability of measurement means :
AT T FegEHEar # oF T E o
Options :
The method of measurement produce the same results when repeated

=,

| FT @ @ e S 97 981 9iemE 3o Bl B

The different methods of measurement on different materials produce the same
results
e FEEEl 9% " & G i OF &7 9ienE 300 5 B

The methods of measurement produce different results when repeated
, x AT F I SR SN 9 S-S 91O S B

The same methods of measurement on different materials produce the same result

4 % AN GWEE 9 A9 & FAN T8 JEM 90T S SR B

Question Number : 32 Question Id : 87408110249 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

If you Iladﬂa z-score of 2.33 this would tell you that :
i A9 919 2.33 9 z-%hi< o, ol 9% A9 Farqm @ ¢
Options :
Your score was 2.33 standard deviations above the mean
| I T AT H 2.33 999 GEed el o

Your score was 2.33 standard deviations below the mean
o w HATIH FDHIY AT H 233 AWE GEOE HHoq



There was a probability of 2.33 of obtaining a score greater than your score
3 % IR FHIT H ATH 2-FHT 9T HIA H 2.33 FAEGAT A

There was a probability of 2.33 of obtaining a score less than your score
o FATEI EpR H WH 2RI OTH &2 F 2.33 HHAEAT ol

4

Question Number : 33 Question Id : 87408110250 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Sample means are :

gfeel AT &

Options :

Point estimates of sample means
uidesl A1 W1 9wy Ao

1. %
[nterval estimates of population means
5 s CTTHEAT HE AT AH

Interval estimates of sample means
y w FTGRT AT HT S

Point estimates of population means

4 o THEEAT AT ey St

Question Number : 34 Question Id : 87408110251 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Field Study is related to :
H Femae @ 9499 fmag BT
Options :

Real life situation

| ardiges Sa- & i




Experimental situation
2 B 1:| J:I-\la_li qi '_-.—'_le

Laboratory situation
\ w TARTETET F et

Simulation situation

Question Number : 35 Question Id : 87408110252 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the following software is a reference manager ?
ad | | HE-A] Jieddy UF JeH g99% 5 7

Options :
ADMB

Chronux
® EIRER

Endnote

Question Number : 36 Question Id : 87408110253 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the iﬂllcrmng is a phgnmm checking tool ?
BialEEEE] o 9 $E-4ar EUEIRZER SIR fIIT—4 R
Options :

ORCID

R



iThenticate

2. o SRS

Publon
3. % TS

Scopus

Question Number : 37 Question Id : 87408110254 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The most common structure of a research article in scientific journals is :
IEN=R Ji=RrAT H UF oY o & 99 HH T3 2

Options :
Introduction, Summary, Results & Discussion, Methodology, Conclusion,
References

o TTTET; HITET GO AT ==l 9 anaie; e Jed

1

Summary, Introduction, Results & Discussion, Conclusion, Methodology,
References

5 x ST 9= 9o AR == e e anate; Hee

Introduction, Methodology, Results & Discussion, Conclusion, References

3 @ Oi=: ST Wi 9omH A =99 e J@ed

[ntroduction, Summary, Methodology, Results & Discussion, Conclusion
4 % TCFT; T o miate; 9o o == e

Question Number : 38 Question Id : 87408110255 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

A measure of symmetry or asymmetry of data distribution is called :

HATHST (FH®) =9 FH FHEIAr a1 G99 & A19 1 FHET AT B o

Options :



Skewness
- EAzIE {_rﬂ THI :]

Kurtosis
Heliad (FHHea)

Mean
H12

3. =

Median

4w FEIET

Question Number : 39 Question Id : 87408110256 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Study the given graph and answer the question.
Number of Girls and Boys participating in a Rally from Five Different Schools :
Jr= FER-FT Tl & Yol H§ AN o el dsihdl ST asat @ He

B00
5530 —4—

500 f----cmcmcmocao] peccocoooo-- - - EEEE B EaRatr

450
400 +-1 -1 BE-----1 Bl

350
300 - -1 BN----- BR-----

1 0OGirls
250

M Boys

Number of Children

200 +-1 -1 B-----1 BR-----
150

50

School

What is the total number of girls participating in the rally from schools A and C
together ?
Thel A A THT C | Yl & AFT oF drcll Tsihdi @ FHel e fhal




Options :

4, o 925

Question Number : 40 Question Id : 87408110257 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Study the following given graph and answer the question.

Number of Girls and Boys participating in a Rally from Five Different Schools :

I FER-3ET el | YAl | AR o gl dSihal A @Sl @ 6
600
550

500 +-----=m---mmnn

_____ [ ——

450
400 +-4 -----|

350
300 +-1 -

1 0OGirls

250
200 +-41 -----1

M Boys

Number of Children

150

100 +-4 [----

50

0

A B C D E
School

What is the average number of boys participating in the rally from all the schools
together ?

AT eIl F AT Yol ° AR o gl ds@l 3 HEd |9 @Al g 7

Note: For this question, discrepancy 1s found in
question/answer. Full Marks 1s being awarded to all
candidates.



Options :
1. 300

5 480

n
]
N

Subject & Area Concerned

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

874081187
2

Online
Mandatory
60

60

180

Yes

0

1
874081229
Yes

Question Number : 41 Question Id : 87408110258 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to

replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The Harappan city of Kalibangan was situated in the books of which river ?

—

ESHERGIE T @A @5 Fel @& AT =g or 7

Options :
Saraswati

.

| % gl

Vipas
2. % BRI

Ghaggar
3. ¢ HHT



Pravar
4 % AT

Question Number : 42 Question Id : 87408110259 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is considered as the father of Indian Archaeology ?

=

OH H TRE 9NaE IR ® S " SR 57

Options :
James Princep

Alexander Cunningham
) HTFATET Tf~TTH

William Jones
3 % [AEH S

John Marshall

Question Number : 43 Question Id : 87408110260 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

From which inscription in Iraq some Aryan names are mentioned :
U H TR Ao H R{E A@E A B Iead Hedl B o

Options :
Hassite

Baghdad
5 % TETE



Mitanni
4 o A

Question Number : 44 Question Id : 87408110261 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The script which has not been used in the Mauryan Inscriptions is :
H1d Aol | TE @ @ u=eT J8 5 B, 98 B o
Options :

Aramaic

=

], % SECREE

Greek

Devanagari

\_‘/ 'ﬂq; | -.I

Kharosthi

Question Number : 45 Question Id : 87408110262 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Who was the first ruler of the Sunga Dynasty ?
ST 99T & UUH oH B g 7

Options :
Pushyamitra

| o T

Vasumitra

T

2.% %

Agnimitra
3 % HARAHA



Devabhuti

.

4 % SR

Question Number : 46 Question Id : 87408110263 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
What is the language of pliny's original work the natural history ?
=il 1 g1 P "g7a BT e 9 7 3= & 7

Options :
English

.

1. %

Greek

Latin

3.9 SIS

French

Question Number : 47 Question Id : 87408110264 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The earliest Tamil Grammar work is :

TFEH TEl diFa AT Fd oA B 7

Options :
Shilapadigaram

Manimegalai

T
T

2. % mes

Vyakarangalai

3 % “ANTEITR



Tolkappiyam

4. 2T

Question Number : 48 Question Id : 87408110265 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

The first Gupta Ruler who took the title of Maharajadhiraj was :
HSH A 991 6 ST A ASTFETETST 6l SUnE ol ©
Options :

Samudra Gupta

Kumara Gupta
) x BT

Chandra Gupta I
;¢ TEIA T

Chandra Gupta II
ER-NARETIE

4. %

Question Number : 49 Question Id : 87408110266 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
The earliest mention of medicine is in the :
A T Feorg F99 TEd el Hadl 5 7

Options :
Atharva Veda
| HAYIIQ

Charak Samhita
) T A

Yajurveda

S G

3. % D



Sushruta Sambhita

, x THT A

Question Number : 50 Question Id : 87408110267 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The model of segmentary state for the Chola state was given by :
I T & U EYs T @ uiided e BEr 7

Options :
Nilkantha Shastri
g« SRS STE]

1

Burton Stein

5 @ TCT WA

D. H. Kulke
3 % Zlo U0 f—@t:r"iv

Sanjay Subrahmanyam

4. % 919 {55

Question Number : 51 Question Id : 87408110268 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which Sultan brought the power of Chanalgani to end ?

— -

B in i BT LI i e s L e B 7

Options :
Qutubuddin Aibak
HIIe™ TS

[tutmish

=

g <QUHAT

N+

Balban



Raziya
4 T

Question Number : 52 Question Id : 87408110269 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which medieval saints teachings are edited as Abhanga ?
ToHe Ao S & 3968 HAET H Hpfad 5 7
Options :

Tukaram

Namadeva

4. % -

Question Number : 53 Question Id : 87408110270 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Which one of the following was birth place of Shaikh Nizamuddin Auliya ?
M= # F = o FEgES AT B S = 97 7

Options :
Ajmer
| % FHTHTL

Multan
% ol

Delhi
3 % el



Badaun

4.0

Question Number : 54 Question Id : 87408110271 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among the following Kingdoms of Medieval India which one was founded earliest ?
S AT @ S T HOH B I F9 Tl =haa 5 AT 7

Options :
Bahmani
| % TEEAI
Vijaynagar
il _

Jaunpur

=

3 % MY

—

Malwa

o
Y

4. %

Question Number : 55 Question Id : 87408110272 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who wrote "The Agrarian System of Moslem India’ ?
Options :
[rfan Habib

Satish Chandra
5 % ERIEIE

W. H. Moreland

- =
S=g0 UHo HUS

3.¢



Muhammad Habib
Jere 59

4. %

Question Number : 56 Question Id : 87408110273 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Who premded over the first session of Indian National Congress ?
A WA HiIE & 999 FAGade™ 3 BE F=me1ar @i ¢
Options :

W. C. Banerjee
|,y a0 Hlo &7

A. O. Hume
To Ho =H

S. N. Banerjee
UHo UHo I941

3. %

Dadabhai Naoroji

Question Number : 57 Question Id : 87408110274 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Precepts of Jesus was written by which reformer ?
JHCH HE e e gans F fean o1 ?

Options :
Annie Besant
R =
1. ®
H. S. Olcot

5 % U o UHo Hlehic

Raja Ram Mohan Roy
3 @ TN T CHEA T




David Hare

e N
4 % Elﬂ\_a s_z":’l ;.

Question Number : 58 Question Id : 87408110275 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The draft of Pakistan resolution for year 1940 Lahore session of the Muslim League was
prepared by ?

g™ TET & 1940 H RN ATGDE H Qe & TR @ JTed e
AT o 7

Options :
Sikandar Hayat Khan
| ® G BAT @

KhaliQuzman

2 W ~E

Mohd. Ali Jinnah
5 % Hlo T 5=

H. S. Suharward;i

o
U0 UHo H=idel

Question Number : 59 Question Id : 87408110276 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

What was most obvious expression of imperialism ?
HEHAG B qGlias eI Aaeige F4r o ¢

Options :
Superior Technology

o T

Colonies

p o SUFERI



Communication technology
y x G A

Cultural supremacy

=R A==l

Question Number : 60 Question Id : 87408110277 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

During second world war who said, "I have not become the king's first minister to
preside over the liquidation of the British empire".

0™ 999 I & QW Es @ o 96 “H I @ 9EE "l TR0
= T Tafcer 9@m=g & 999 # AT 5 17

Options :
Clement Atlee

o The -
gedlHC ol

1. =

Benjamin Disraeli
A fS=Tgal

Ramsay McDonald
o THS HHSMHES

3.

Winston Churchill
4 fa=gea ==

Question Number : 61 Question Id : 87408110278 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
"Physiocrats" were :
M= H H W 99 #1 “Teraassed” e A.r oar v

Options :
French Economist

| TRETHET AR 9979



Russian Proletarians
+ ';:T L FEEIEA

German Nazis

Dutch Physicists
B IREAER BT

4. %

Question Number : 62 Question Id : 87408110279 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Permanent Revolution was propounded by :
TIHHE Paege (T i) @ AIGRON HE giagied @ oo ¢

Options :
Engels

Lenin
2. % ?}\ N

Trotsky

3.0 2N

Marx

4 % FTEE

Question Number : 63 Question Id : 87408110280 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

What among the following is nof conformity with sustainable development ?

HIOoTE G @1 Hggren | e H H Fr g9i9d T8l 5 7

Options :
Organic Farming

1 x - iy_r—.. - E_\ -



Environmentalism

2. % -

Infinite Development

Gandhism

L % eES

Question Number : 64 Question Id : 87408110281 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

John Rawl's theory of Justice is not related to :

-

A T wH AE e = 9 e TH TS B

Options :
Pure Procedural Justice
9 HiERATcHE T

Veil of Ignorance

) % HETA =Rl YaT

Equal Liberty

3 % T T

Entitlement Theory
AT = s

4. &

Question Number : 65 Question Id : 87408110282 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

Among the following who supports the idea of "Forced Freedom" ?
= A# A e gona S=agar @ e giodred =T 7

Options :



John Locke

Roussean

2.

Thomas Hobbes

3. %

Machiavelli

. -

4'33 r"—lni r"Q'

Question Number : 66 Question Id : 87408110283 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question
Political Theory is not related to :
TSNS HEwT @ "9 787 5

Options :
Conceptual clarification of Idea

-

A= & Hesiids o=dl o

Providing models of behaviour

2.
Rationalization of political propaganda
AT FaSER =i dihahEnLoT
3.¢
Exploration of political ideologies
4w TSI R/ AGEERIAT i AT

Question Number : 67 Question Id : 87408110284 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question



Who defined democracy as the "Government of the people, by the people, for the pecnple" ?
“TAT W, SAGT & S, F9dT & [ enEd § Sead” - 9% Oiem S

o
=
=3 4

Options :
Mahatma Gandhi

T

Abraham Lincoln
5 @ FEEA

Woodrow

Harold Laski

= s -
giles dlitl

Question Number : 68 Question Id : 87408110285 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Allowed Progression : Yes Number of Replay : 999 Play On Load : No Control Enable : Yes Time interval to
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who wrote the book "Republic” ?
ot g T @ = e @

T
:

Options :
Bodin

T
[

1. %

Locke

o [=F

Plato

<l

Question Number : 69 Question Id : 87408110286 Question Type : MCQ Option Shuffling : Yes Is Question
Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Allowed Progression : Yes Number of Replay : 999 Play On Load
replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who is known as the 'Father of Political Science' ?

‘IS 95 =7 AT &= Sed

Options :

Karl Marx
e AT

Aristotle

2.0 Y

Austin
A=A

Plato

i T 1

4 % T

: No Control Enable : Yes Time interval to

Question Number : 70 Question Id : 87408110287 Question Type : MCQ Option Shuffling : Yes Is Question
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who was the author of the book '"The Economic History of India’ ?

Options :
R. P. Dutt
_ #To Yo &d
1. #®
Romesh Chandra Dutt
5 o THET TE S

Dadabhai Nauroji

Justice M. D. Ranade

4. %

AET THo Elo TS
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

In Marxist thmlght the concept of hegemmw is associated with :
AT SEE HOFEE @1 FATEROT & e e Jiodied a7

Options :

Gramsci

1. ¢

Lenin
4.8 ©
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Question Label : Multiple Choice Question

The Book 'The German Ideology' was written by :

‘T WA HASIEARS AHEG Uigm IS & T F

Options :
Lenin
EVS

Karl Marx and Friedrich Engels
FIE AEH AT Weiih Tied

Karl Marx
=h I l:I'ITF’:T

Friedrich Engels
HETieh Ui
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Question Label : Multiple Choice Question
Which one is third and 1mponant organ of the government ?
= H H T {0 AE AR #EwEye HT BT

Options :
Legislature

= =,

Ly |-_, LG T'q:
N -y “

Executive

= . )
bo] e

2. % TS

Judiciary

e e

3 o

Media

[
"]

4w HISAT
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Question Label : Multiple Choice Question

According to Bodin, the limits to sovereign authority are :

q6T ®H AN, UG AR & HIL FEE e " e S I M0

B T

Options :

Customary Laws

L AR 1919
Constitutional Laws

Municipal Laws

3 % SMECIREAREIS]
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T & =i

4o
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

The Sixth 'Five Year Plan’ gave the status of partners in developmem to:

Bel dgadE AreAr & e " O e T 89E @ TTEE & "9edrn @)l
T ST AT 7

Options :

Dalits

MG

1. %

Tribals
5w HATGITET

Urban Youths

3 % =l If-n

Women

4. 1 °C
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who among the following can establish an Inter-State Council ?
= 7 7 ez S9e-Tr 9tieg & e BT Sar B 7

Options :
President

1.¢ 7

Supreme court
U Fie

2. % 5



Prime minister

3, X SR £l

Parliament
4, % &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

For what period does the Vice President of India hold office ?
A & I9-Igdid B BHEEE Bl & 7

Options :

3 years

1.;/56‘-':[

Till the age of 65 years

, % 65 AT A AY TH

6 years

33365175[

2 years

4'33231"5[
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of the ic:ll::mmg appointments is nof made by the President of India ?
ARG & e F FN M H H e FgiEe 87 @ A s 7

Options :
Chief of the Army

| x T



Speaker of the Lok Sabha

) AT & 3=

Chief Justice of India
qar=s =EeE ® g A

3. %

Chief of the Air Force

4 % TEET & FEA
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Correct Marks : 3 Wrong Marks : 1

Question Label : Multiple Choice Question

In case a President dies while in office, the vice President can act as President for a
maximum period of :

qRd & did @ M99 & 9EREtT ', 9Fd @ S9redig Algwmad o
THT T 3990 995 9¥ WA HT Ghd & ¢

Options :
1 years
| % 1 99

3 months
) x 3 HE

6 months
3 6 HIE

2 years
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Question Label : Multiple Choice Question



How many Fundamentals Rights have been provided by the Constitution of India at
present ?

AROE HGI & FA RO T & Al ATGERRI B AEEE 99AH H
Options :

Eight

1. =

Nine

2 % T

Five
3.0% 9=

Six

4 F 13
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Who has associated crime with anomie ?
FIITT T AAET | e J@9iag Tar & 7

Options :
Sutherland

Lombroso

-} .

rr||]:|4.":| El
R

Merton
3 o T

Gillin & Gillin

4 % e AT [
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

White- collar crime 15 committed for :
gaaaE I fopAEr ST o

Options :
Social gains
| x AWIEE EES S

Economic gains
MY wEe & oo

2. ¢

Revenge

T W e
3 % gl h ToTd

Political gains
4 % TGS BEE &
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Kinship by nature is

TG & TP B ¥
Options :
always specific
| BHe fafree
always unspecific

never specific
FHHT [GigTee TEl

in some case specific, while others not
B qEal | EieTee, | 9 A5
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Question Label : Multiple Choice Question

Youth rebellion is an example of ......... __——

Options :
Adaptive

Counter

3 FEAEE1] ?El’f-d}:lﬁ

Revolutionary

A= =5 s _;.--.
% hlld=hl=<l ~*+<pld
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Question Label : Multiple Choice Question
Which among the following is not right for Sociological Imagination ?

HATALEE T & 0 =5 o 9491 J981 981 & ¢

Options :
The concept was given by C. Wright Mills
a5 FIYEON Hio TEe Hed o & &

1. =
The impact of individual forces on social life
) THEISTE SEE 97 FAfaas el @ aEd

The awareness of relationship between personal experience and the wider society

y x I STHT AT JEE FAS & HeT HLA A ARG



The ability to see things socially
4 % TEJHAT B HHNAD AL T @A DI Hlidieraed
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is net a characteristic of the social facts ?
Options :
Coercive nature

External to the individual
5 % AT H AR

Properties of social life
HHIST a0 IO

Internal to the individual

. =g @ ATdiden =g+ H SJaied
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
What is cerrect for functional integration ?
JeRcHE U0l & 0T =1 q8T 5 °

Options :
In functionally integrated systems, there can be no element of disintegration

" UhEcH® T H Uhipd =gl H [g9ed & awd A8 Bid

Functionally integrated systems do not have any dysfunctions

) % TEREEE T H USG9l H AUmEicA® owg 98 B




In functionally integrated systems, parts are interdependent

TEREEE T H UG gl & [BE FHAEHT Bf OE

3.¢

All of the three
4 % SIRINE: LI
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which among the following is a role, not an act ?
Frtfefee & & 1 o g &, w6 e
Options :
Eating

-

Dancing in one's bedroom in front of a mirror

) % HIH 9EHAT HIZ:I &= 1A I AT

Posting one's dance videos on WhatsApp
HAUH TH W ESHAT B w|EACT T ST

3. %

To fight for one's rights
. HIH ATTHE & 0 @sal

4
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Which among the following is not associated with neo-functionalism ?
I9H | BN F9-UwEEs | @49iad 987 2 7
Options :
Paul Colomy

1 % JTeT =hIeTH



Jefferey C. Alexander
) = E:' ?ﬁTG [-.],'\'? ’}"_\EI-.E_J ¥

Pierre Bourdieu

3, o NEA Sl

Niklas Luhmann
EEFNE G

4w
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Question Label : Multiple Choice Question
The AGIL model was developed :

USIATEU Hisd 1 [ 5T ¢

Options :
During a play in small groups
0% BIC @9F H @d & e

1. %

During an experiment on leadership in small groups
Uh Bic 95 H 9gd 9¢ UH 990 & Q-

2. ¢

During an interaction with leaders of small groups
Bie HYEl & AdrA] & G1e U A & G

3. %

None of the three

4 % O H H PIE AR
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Althusser's mterpretatmn of Marxism has often been labelled as :
USgHY & HIEHAG & =ANAl B AFHL A9 hAT S 5 o

Options :



Structural interpretation of Marxism

- qeFeaTs &1 JI=-cHss 2]

Orthodox Marxism

), w SIGATN AR

Humanistic socialism

3$mﬂﬂﬂﬁﬁw

Economic determinism

4w T e
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is a salient feature of Indological approach ?
SSIAAshe Gredol &l 399 § 991 U Hs<dqol [gaudr 5 7
Options :

Emphasis on understanding Indian society
ST HAT W OFHI 9T T

1.

Emphasis on providing solutions to the problems in Indian society
, A FEI H OFHENA & FAEN I A G

Western social values and culture can explain social phenomena in Indian society
HEAE HATA @1 JAENSAS TeATHAl B ARl Jie=Hl JETas Jedi ud
3 % R @ JEEAl H Al

None of the three

4 % T 1 H | Hhis A8
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Question Label : Multiple Choice Question



The responsibility of the deviant behaviour lies at the doors of the society. Who
subscribes to this opinion ?
FTgaEarl =FeT & Sliad J9r 97 Blal = | H=iaad # 3 B4 39

-

=Y & 9996 B 7

Options :
Merton

1. % 7

Durkheim

2.4 3

Parsons

3 % TTEH

Weber

4 8 TN
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Question Label : Multiple Choice Question

Secondary groups represent "cold world ". Who subscribe to the opinion ?

fEd@s |95 “Tusl g1’ @l OidiHisg & £ | = § | & 39 9=

Options :
Landis
| o STIST

Cooley

K. Davis
3 8 :-_"\'_.-'CJ _\t:. r';q;.:‘

Johnson
g, % %
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Question Label : Multiple Choice Question

"We are members of associations, not institutions". On the basis of this sentence, which
18 an association ?

“ZH AETEl @ Hed =id 8, SENA! &% A8’ | 39 HmEH @ AN 9% 39H
q DI UH HEN R 7

Options :

Trade unions
| % T A9

University

Both Trade unions and University

| o SFT =R T d fEeafaemer

None of the three
, o« T EF FE
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Being an Indian, I compare Western culture with Indian culture and find that Western
culture is inferior, How would you describe the feeling ?

Uesh A B A W9 H AROE U Ui HEpiadl H e il /
FTEAl £ Al g3 @ B 9= GEpia EM B 39 A &1 AT B
Options :

Ethnocentrism

L A=Al -hl==hdl

Cultural relativism

- Hitpicehs HTIE0



Xenocentrism

3 % T~ ]

None of the three

| T E T
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which among the following is not true ?
=T=H F 4T 9851 J81 & 7
Options :
Values are the basis of norms
=0 19T 1+ T AT =
| % Hed ARET HAH = ATEN &

[n comparison to norms, values are more general and abstract
) % HIGRT HHH i JoaT H, ﬂﬁlmﬂ?ﬁwnﬁﬂﬂf_‘fﬂﬁ?
In comparison to values, norms are more general and abstract
| o T A ge & st frew sifas @ of serd 2 R
All values are norms but all norms are not values
H49T god AGY FEH Bl & Uiwg "9 AGIEEH JoF 981 5

4. %
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question

Which of these perspectives do notf give importance to "meaning” in understanding the
social world ?
THH H BHE-ET GEUET FANSS Gidr @ q95E H
St 7
Options :

Phenomenology

e

PN

” E’r—?f Hsd 5'3?

1. %



Ethnomethodology

g, % TIMICETG

Symbolic interactionism

3. % e GHE R IE

Functionalism

4.#5475!74?@
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Phenomenology is the study of :
TIEAEE T B o

Options :
Bracketed out or the external world

Ty T

s AT AT TEd GiFdr @

1. %
Bracketed in or the consciousness
_ gHes SO AT =JaAT @l
Both Bracketed out or the external world and Bracketed in or the consciousness
3 % Sl SHes FASC AT 9Bl Al A AN GHes 34 AL == @
None of the three
, u T E F
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Correct Marks : 3 Wrong Marks : 1
Question Label : Multiple Choice Question
Industrial societies are characterized by :
Options :

Gesellschaft
| TTEHCTEEE



Gemeinschaft
5 w STEARTFC

Both Gesellschaft and Gemeinschaft
3 % Sl THLNFE UF IAHEALIEE

None of the three
o w O F B



